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11.

Who designed “Jawahar Kala Kendra”, Jaipur ?
(a) Charles Correa (b) B.V. Doshi (¢) Louis Kahn (d) Joseph Allen Stein

Who is the architect of Lotus temple, Delhi ?
(a) Jorn Utzon (b) Fariborz Sabha  (c¢) Le Corbusier (d) Charles Correa

The flow velocity in a sewer does not depend on :
(a) Length (b) Slope (c) Roughness (d) None of these

Wood seasoning by using method of boiling in water is

(a) Serviceable for a small quantity of wood, but not convenient for a large amount
(b) Expensive

(c) Takes about 3-4 hours

(d) All of these

The basic purpose of a retarder in concrete is

(a) To increase the initial setting time of cement paste in concrete.
(b) To decrease the initial setting time of cement paste in concrete.
(¢) To render the concrete more water tight.

(d) To improve the workability of concrete mix.

is the vertical member which is fixed between string and handrail to give support to
the handrail.

(a) Baluster (b) Balustrade (c) Flight (d) Barrister

A pipe which is installed in the house drainage to preserve the water seal of traps is called
(a) Vent pipe (b) Anti siphonage pipe

(c) Waste pipe (d) Soil pipe

Which system is best for drainage of multi storeyed buildings ?

(a) Two pipe system (b) One pipe system

(c) Soil pipe system (d) None of these

Excess of alumina in brick earth makes the brick

(a) Impermeable (b) Brittle and weak

(c) To lose cohesion (d) To crack and warp on drying

As compared to English bond, double Flemish bond is
(a) Stronger (b) More compact (c) Costly (d) None of these

The type of window provided on the sloping side of a pitched roof is called
(a) Dormer Window (b) Gable Window
(c) Lantern Window (d) None of these
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12. The ratio of Young’s modulus of high tensile steel to that of mild steel is about
(a) 0.5 (b) 1.0 (c) 1.5 (d) 2.0

13. A Nabhni trap is provided
(a) Where it receives waste water from showers & kitchens
(b) At the junction of two house drain
(c) Anywhere in house
(d) None of these

14. Efflorescence of brick is due to
(a) Excessive burning of brick (b) High silt content
(c) High porosity (d) Soluble salt present in clay for making bricks

15. According to IS specifications, the compressive strength of 33 grade ordinary portland
cement after three days should not be less than

(a) 7MPa (b) 11.5 MPa (c) 16 MPa (d) 21 MPa

16. The most important purpose of frog in a brick is to
(a) Form key joint between brick and mortar
(b) Reduce the weight of brick
(¢) Emboss manufacturer’s name
(d) None of these

17. Minimum grade of concrete to be used for paver block is
(where symbols have usual meanings)

(a) M25 (b) M30 (c) M35 (d) M15
18. The external wind pressure acting on a roof depends on

(a) Degree of permeability of roof (b) Slope of roof

(c) Both (a) and (b) (d) None of these

19. As per the latest Indian Standards, the number of seismic zones in which the country has
been divided are

(a) 3 (b) 4 (c) 5 (d) 7

20. To design the trusses, which of the following rules are followed ?
(a) The loads are not applied at all to the joints.
(b) All loads are applied by the use of cable.
(c) The loads are applied on member.
(d) The loads are applied at the joints.

21.  Which of the following I.S. Code provides the guidelines for design of steel structure ?
(a) IS 800-2007 (b) IS 1077-1992 (c) IS 563-1998 (d) IS 456-2000

22. Workability of concrete is directly proportional to
(a) Aggregate-cement ratio (b) Time of transit
(c) Grading of the aggregate (d) All of these
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23. InaR.C. beam, shear reinforcement should be always in the form of
(a) Vertical stirrups (b) Inclined stirrups

(c) Bent up bars with stirrups (d) Any of these

24. Ifn>2J—R, then the truss is called as

(where ‘n’ is number of members, J is number of joints and R is number of reaction
components)

(a) Perfecttruss (b) Deficient truss (c) Redundant truss (d) None of these

25. Minimum grade of concrete to be used in reinforced concrete as per IS 456-2000 is
(a) M15 (b) M20 (c) M10 (d) M25

26. Which among the following is not a type of truss ?
(a) Howe truss (b) Bratt truss
(c) North-light roof truss (d) King post truss

27. Which is the weakest concrete mix ?
(a) 1:2:4 (b) 1:3:6 (c) 1:4:8 (d 1:15:3

28. Initial strength of concrete increases with
(a) increase in water cement ratio (b) increase in fineness of cement

(c) decrease in curing time (d) decrease in size of aggregate

29. As per the assumptions in limit state of collapse, the tensile strength of concrete is
(a) Calculated (b) Estimated (c) Ignored (d) Commonly used

30. A combined footing is generally used when
(a) number of column is more than two and they are spaced far apart.
(b) number of column are two and they are spaced close to each other.
(c) number of column are two and they are spaced far apart.

(d) there is only one column.

31. Which of the following is not a member of a steel truss ?
(a) Gusset plate  (b) Purlin (c) Fish Plate (d) Anchor Bolt

32. In earthquake prone area, the beam width shall not be less than
(a) 200 mm (b) 230 mm (c) 100 mm (d) 300 mm

33. Minimum diameter of sewers, generally adapted in the design may be taken as :
(a) 15cm (b) 20 cm (¢) 10cm (d) 12.5cm
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34. The layout of distribution system in which water flows towards the outer periphery is :

(a) Ringsystem (b) Dead end system (c) Radial system (d) Grid iron system

35.  Which of the following is not a component of packaged air conditioners ?

(a) Compressor  (b) Condenser (c) Chiller (d) Evaporator

36. In cities, waste water is carried from homes to
(a) Sewage treatment plants (b) Drainage treatment plants

(c) Recycling treatment plants (d) Segregation treatment plants

37. Hydraulic mean depth of a circular sewer having diameter D is given by :
(where symbols have usual meanings)
(a) D/4 (b) 4/D (c) D/16 (d) 16/D

38. Slope of sewer shall be preferably :
(a) Given in the direction of natural slope of ground
(b) Given in the direction opposite to natural slope of ground
(c) Zero
(d) Steeper than 1 in 20

39. Most commonly used sewers under culvert is :
(a) Circular brick sewer (b) Circular cast iron sewer

(c) Semi-elliptical sewer (d) Horse shoe type sewer

40. The percentage of chlorine in fresh bleaching powder is about
(a) 20-25% (b) 30-35% (c) 40-45% (d) None of these

41. In house drainage system leakage of different pipes is tested by :
(a) Smoke test (b) Air test (c) Water test (d) All of these

42. Incrustation of tubewell pipes may result in :
(a) discharge of highly corrosive acidic water.
(b) discharge of highly corrosive alkaline water.
(c) reduced discharge from tubewell.
(d) None of these

43. Which garden represents symbolic flow of water, milk, wine and honey ?
(a) Lal-Bagh (b) Water-Bagh (c) Vegetable-Bagh (d) Char-Bagh
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44. Designer artist who designed ‘Rock Garden’ at Chandigarh is :
(a) Nek Chand Saini (b) Raj Rewal
(c) Le Corbusier (d) Ravindra Bhan

45. Which is the oldest National Park of India ?
(a) Ranthambore National Park (b) Valmiki National Park
(c) Gir National Park (d) Jim Corbett National Park

46. “The death and life of great American Cities” is authored by :

(a) Andres Duany (b) Jan Gehl (c) Jane Jacob (d) Peter Moskowitz
47. The architect for “Kashi Vishwanath Dhaam Project” in Varanasi is :

(a) Christopher Charles Benninger (b) C.P. Kukreja

(c) Bimal Patel (d) Raj Rewal
48. Botanical name of ‘Money Plant’ is :

(a) Moringa Oleifera (b) Epipremnum Aureum

(c) Tagetes Erecta (d) Mentha Longifolia
49. Concept of ‘Ecological Skyscraper’ was given by :

(a) Peter Calthorpe (b) F.L. Wright

(c) Ken Young (d) Le Corbusier

50. Representation of white sand in a dry rock garden is symbolic representation of water in
which garden ?

(a) Chinese (b) Japanese (c) English (d) French
51. Landscape Architect of ‘Raj Ghat’ in Delhi is :

(a) Ravindra Bhan (b) Prabhakar Bhagwat

(¢) Vanu Bhuta (d) Nek Chand Saini
52. “City Beautiful Movement’ was applied for the first time in which city ?

(a) London (b) Paris (c) New York (d) Chicago
53. Author of the book ‘From Geometry to Topology’ is :

(a) Graham Flegg (b) Jane Jacob (c) Arthur B. Gallion (d) Uzma Ajmal
54. Neighbourhood Unit was conceptualized by

(a) Ebenezer Howard (b) Clarence Perry

(c) Le Corbusier (d) F.L. Wright

55. Who introduced the concept of ‘Serial Vision’, a visual approach to urban design in his
famous book ‘Town Scape’ in 1961 ?

(a) Gorden Cullen (b) Kevin Lynch (c) Edwin Lutyens  (d) Charles Correa
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56. Which of the following technique mitigate the Urban Heat Island effect ?
(a) Roof Gardening (b) Green Wall
(¢) Living Wall (d) All of these

57. Asper UNWTO, which village got the title of best Tourism Village in 2023 ?
(a) Dhordho village, Gujarat (b) Pochampally, Telangana
(c) Khonoma, Nagaland (d) Dharhara, Bihar

58. An electronic theodolite with EDM is popularly known as
(a) Compass (b) Auto level (c) Total station (d) GPS

59. The rise and fall method of levelling provides a complete check on
(a) Back sight (b) Intermediate sight (c) Fore sight (d) All of these

60. The headquarters of Survey Department of India is located at
(a) New Delhi (b) Mumbai (c) Manali (d) Dehradun

61. The angle of elevation is measured with the help of

(a) Clinometer (b) Odometer (c) Panometer (d) Padometer

62. The instrument used for accurate centering in plane table survey is
(a) Spirit level (b) Alidade (¢) Plumbing fork (d) Trough compass

63. How many number of urban design elements are presented by Kevin Lynch ?
(a) 5 (b) 4 (c) 3 (d) 6

64. When total station is sighted to the target, which operation act first ?
(a) Rotation of the line of collineation (b) Rotation of horizontal axis

(c) Rotation of optical axis (d) Rotation of vertical axis

65. In total station, Data is stored in
(a) Pen drive (b) Data Card (c) Microprocessor  (d) External Hard drive

66. What is the formal name of Drone ?
(a) UAP (b) UAV (c) PAV (d) QUA

67. Which type of projections are used in Aerial photographs ?
(a) Parallel (b) Orthogonal (c) Central (d) None of these
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56. STH W I W e oh N -ATI-EIT o THTS I HH HLAT 8 7
(a) S HIIEEHT  (b) B R (c) Shfera dear (d) T8 aft
57. JUA.TSY .M. (UNWTO) o STFHR S |1 7iid T2ie i gfee & T3 (2023) =it fema
TS ?
(a) GRS, TS (b) TrEHUCH, AT
(c) @M, NS (d) =&, foer
58. 3.21.UH. % 1Y I SOl (eh FRIEIGTSS hl TR &9 & FTHT AT 8
ORETGED (b) ATl g (c) oA LIH (d) Sfrdeg
59. T W9 1 331@ e i fafer qu fremon yem et &
(a) WI-FR W (b) AFFH IR W (c) -3 W (d) FEf
60. T Fee1oT framT o1 geanTer el fRya 8 7
(a) 3 feeett (b) 4=s (c) T (d) &
61. FTTS 1 I frEehl HERAT ¥ A4 AT 8 ?
(a) FATSHIT (b) ATSHi (c) T (d) TerfieX
62. THAS Heteh AUl H Hal ohrgUl oh foIT I fohT S STeTT ST &
(a) ferfeaa ORNIES
(c) HTEeA Hiet (d) T = ZfOTeRT AT
63. hfar ot A foha wradl fess o weqa fohdl 7
(@ 5 (b) 4 (c) 3 (d) 6
64. 9 e LI T A&F hl 3 WA 8, dl S HT TNIE T8t & w1 8 ?
(a) TREUT TG T T (b) &fcrst 3787 1 gHAT
(c) Aha 31& I FHAT (d) SEATER 3781 B FHAT
65. T TIF 1 <1 ToheH Hd fehall ST @ 7
(a) U IS (b) STUHE (c) HTEShISEER (d) STEd &TE grRa
66. S 1 Fo=TEs AH TR ?
(2) ZTH. (b) ZTA. ORAL (d) FLILT.
67. TATS BIIUT § for TerT o T&I90T o1 39T foham ST 2 2
(a) FHFIR (b) NI
(c) M (d) 370 T HE TE
e R - Ty



68. Which of the following survey is used to define the property boundary ?

(a) Cadastral survey (b) City survey

(¢) Land survey (d) Topographic survey
69. Agonic line is the line joining points having

(a) Zero declination (b) Minimum declination

(¢) Maximum declination (d) Same declination

70. Which of the following methods estimates best the area of an irregular and curved

boundary ?
(a) Trapezoidal method (b) Simpson’s method
(c) Average ordinate method (d) Mid-ordinate method

71. A Drone can be traced by
(a) Radar (b) Laser (c) Ultra Sound Wave (d) Sonar

72. In surveying what does EDM stand for ?
(a) Electromagnetic Distance Measurement
(b) Electrical Distance Meter
(c) Electronic Datum Meter
(d) Electrical Datum Measurement

73. National Remote Sensing Center Hyderabad, India was established in which year ?

(a) 1999 (b) 1983 (c) 1947 (d) 1974
74. Image clarity is related to

(a) Spatial Resolution (b) Spectral Resolution

(c) Both of these (d) None of these
75. What is DEM in surveying ?

(a) Digital Envelop Model (b) Digital Elevation Model

(c) Digital Equation Model (d) Digital Elevation Machine

76. As per Border Road Organization which is the first village of India in Uttarakhand ?
(a) Mana (b) Dhanoli (c) Banala (d) Dewar

77. Madurai (TN), which is popularly known as a temple city, is based on which type of Ancient
Town Planning Classification ?

(a) Swastika (b) Karmukha (c) Nandyavarta (d) Chaturmukha

78. Which among the following is vernacular architecture of Uttarakhand ?
(a) Ikra house (b) Bhunga Hut (c¢) Koti Banal (d) Dhajji Diwari

79. Theory of ‘Ekistics’ was given by
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68.

69.

70.

71.

72.

73.

74.

75.

76.

3T T hIF BT FaequT Gutd <ht Hiar eyl s g ¢
(a) HSEA TIu  (b) I TR (c) STHH Ha&Tor (d) TR HAET

T TeapaTdlt Ta w forgai ol SieH arefl W@ & fmeht e
(@) TABAME | (b) BRI (c) JEHAHBAR | (d) THEWH B B |

= 1 8 i ol U sremTshies T S5k €iHT 3 &t o TRk aq 35S Wt ?
(a) THo fafer (b)) Tomoem fafy (c) 3itea gemH fafer (d) #ew Yo fafy

I <1 U fohEeh gRT ST ST b1 & 7

(a) TR (b) TR (c) AR ARS T (d) TFR
Td U 3.€1.u0. I AdeAd R 7

(a) Terga grarehian gl W (b) ferga gl e

(c) oI STH Hict (d) Terega S mmA

TS fogie i B, geuee, i fope o o wermfi gam o 7

(a) 1999 (b) 1983 (c) 1947 ) 1974
B Tysear forod gefia § 2

(a) Torfem fsieggm (b) avisrdia AsiesgH () 3 Sl (d) 70 T hi3 T
TEHS I g 2

(a) Tefteet v=emm uiga (b) Teftest wferam aiea

(c) Tefteet oM Afew (d) feftest uferasm asfia

IAEE H diet U IS A ohE T1Te ohl WA o1 T&H Tiel <1 asif fear ?
(a) M (b) &AT (c) ST (d) TN

77. TG (AMHTHTS), ST T ATehI HIGT WEX 7, fohH TR o TTEH TR FRISH afientor I et
87
(a) TfEH (b) HTE (c) “Ferrrd (d) =g
78. TTH W P ITHRGE hl WM aghell & 7
(a) U (b) W ST (c) B TEA (d) ot el
79. ‘Ufenfeesd’ o fagra i fered fgam e 7
(a) H.u. sifegaifen (b) aTeet fReEer
(c) Hfe Afewm (d) e sem
0 S - TG



80.

81.

82.

83.

84.

8s.

86.

Match the following :

(1) Islamabad (P) Ernest Burgess

(i)  Tel Aviv (Q) Lucio Costa

(iii))  Concentric Zone Model (R) Doxiadis

(iv)  Brasillia (S) Patrick Geddes
Codes :

@ @) (i) (@iv)
@ ®) ) Q @
b ® ©Q ®) ()
) ®) ) P (@
d ® ©Q & ®

As per URDPFI Guidelines which colour code is used to denote public and semi-public land
use on a map ?

(a) Yellow (b) Green (c) Red (d) Blue
Minimum carpet area for Dwelling Unit for EWS under Housing for all is sq. m.
(a) 25 (b) 30 (c) 35 (d) 40

Which is the first “Twin National Heritage Cities’ of India ?
(a) Ujjain — Indore (b) Varanasi — Prayagraj
(c) Prayag — Kashi (d) Rishikesh — Haridwar

Which city is designated as India’s first heritage city by UNESCO ?
(a) Chandigarh (b) Surat (c) Delhi (d) Ahmedabad

Which of the following Act of India imposes capping on vacant land in Urban
Agglomerations with a view to bringing about an equitable distribution of land in urban
agglomerations to sub-serve the common good ?

(a) Urban Land (Ceiling & Regulation) Act, 1976
(b) Model Town Planning Act, 1960

(¢) Rent Control Act, 1918

(d) Land Acquisition Act, 1894

According to URDPFI Guidelines what is the full form of IDDP ?
(a) Inter District Development Plan (b) Integrated District Development Plan
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80.

81.

82.

83.

84.

8s.

freferiiad =i e -

() eI (P) wEw s fifE
(i) At oE Q) I
(i) HFATgH I ATGA (R)  STfeq
(iv)  sffemm (S)  tfges ffew
EE(::

@ @) (i) (@iv)
@ ®) ) Q @
b ® ©Q ®) ()
) ®) ) P (Q
d ® ©Q & ®

3 3RS TF. 3. (URDPFI) TESHTEH % STTHR TTel-eh d &A1~ i ST=RT !
TR W fohe 1 8 gl & 7

(a) dreT (b) & (c) &t (d) e

BT B 3Tt o qgd (e I & HHAIR S b 1T Tsh X HT FTqdH HRUS & Fehat o
. BT =T ?
(a) 25 (b) 30 (© 35 () 40

YT 1 TEAT TSal TS fored e A1 g ?
(a) ISH-ER  (b) TRUEN-YITRS  (c) SEAW-hreh (d) FNHA-ENgR

! G Tohe STEX o1 YT T TgeTl BRes STet ATfird fepam & 2
(a) =G (b) @ (c) Teeett (d) 3TEHeTETe

v o fmferfiaa o @ S a1 srfurfrem s faa 1 gfd & fore et awel o gyfi o1 =
Torawor & <61 gfee & wTad TgEl | Wiett i R SR i § ?

(a) &t gfer (& oik fafaam) srfafam, 1976

(b) TS TS AT T, 1960

(c) Tortram fmror arferfrm, 1918

(d) sty srfenrgon arferfem, 1894

86. I .3T.E1.H1.U%.37E. (URDPFI) % feemfacati = 3R 31 . & €. @, (IDDP) &1 QUi €4 T 8 ?
(a) IR forer ferepr Fiem (b) TEhishd T forshra AT
(c) TEhishd Sa farehmdt AT (d) IR e ferepra ifar

0 N - TG



87.

88.

89.

90.

91.

92.

93.

9.

9s.

96.

Select the major effects of the Industrial Revolution :
(1) Rapid Urbanization

(2) Slow Urbanization

(3) Growth of cities near factories

(4) Changes in farming & pattern

(a) Only (1) (b) Only (2) & (3)  (c) Only(3) & (4)  (d) Only (1),(3) & (4)
Who proposed “Contemporary City” scheme ?

(a) Ebenezer Howard (b) Le Corbusier

(c) SoriaY.Mata (d) Frank Gehri

Urban sprawl along a highway is called

(a) Conurbation (b) Ribbon development

(c) Agglomeration (d) Concentric development

Which of the following is a social indicator used in Regional Planning ?
(a) GDP (b) Land Area
(c) Life Expectancy (d) Average Annual Rainfall

Which part of NBC 2016 covers “Approach to Sustainability” ?

(a) Part8 (b) Part9 (c) Partl1l (d) Part 12

Traffic prepared based on 365 days of a year is called as

(a) Average Annual Traffic (b) Yearly Traffic

(c) Average Yearly Traffic (d) Annual Average Daily Traffic

The Air (Prevention and Control of Pollution) Act was enacted in and amended in
year.

(a) 1972 and 1991 (b) 1981 and 1987  (c) 1974 and 1981  (d) 1974 and 1980

What is ‘NDC”’ in relation to Climate Change Policy Frameworks ?
(a) National Development Contributions (b) Naturally Determined Contributions
(c) Nationally Determined Contributions (d) Nationally Democratic Contribution

Parts Per Million (PPM) is used for estimating which of the following ?

(a) Biodiversity  (b) Air Quality (c) Noise (d) Resilience
‘VOC’ is

(a) Volatile Organic Chemicals (b) Versatile Organic Compounds

(c) Versatile Organic Chemicals (d) Volatile Organic Compounds

The ozone layer thickness is measured in
(a) Becquerel (Bq) (b) Dobson Unit (DU)(c) Decibels (dB) (d) None of these
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87. SfIEIieh ShIfd o @ SWTET ol =9 ht :

(1) s srgdientu

(2) o rEdent

(3) HIEMI % IH & hT fospm

(4) @l & alispi § S

(a) e (1) (b) e (2) 3 (3) (c) et (3) AR (4) (d) FaA (1), (3) IR (4)
88. “THhIcT W& JISHT bl TeaTd fere fezm o 2

(a) TSR EEE  (b) off HIYRER (c) M@ aE. 7T (d) ek e
89. Teh TSI o fohR et Wt fored &= shgarran g 7

(a) U foear (b) fiam fomem (c) TAREH (d) Hhfa faE
90. Tam=feafiga § @ % 91 & e ° Suam feran ST STeTT Ueh ARk Hehdeh & 7

(a) Tehel BT 3TE (b) ST Shed (c) Sfa= geamsm (d) 3THd a1 asf
91, TA.S.E. 2016 1 M T WRT “FRRAT  GEHI” 1 Hal hLdT @ 7

(a) W8 (b) 9 (c) W11 (d) 4T 12
92. HTA o 365 fe1 & IMUR T IR foha 71 Sftheh R Fhgarrar 2 2

(a) 3N AT AR (b) |TATT AT

(c) T GIA™T JTdmTd (d) =Tfes 3fEa efie aramma
93. STy (ST ke Wl framron) Jafrfrem T srfufrafia feran mn ik CLE:

genferg foparm i |

(a) 1972 3T 1991 (b) 1981 3T 1987  (c) 1974 3T 1981  (d) 1974 3T 1980
94, Sorary uiEdH ifd e % ey # T ®E 7

(a) T ferehr@ AMTEH (b) TaTwTfyes &9 ¥ feifa FreH

(c) TSR TR W fFeifa anem (d) TSI TR W AlBAIh TAEH
95. uTed R fferam (fidfiam) o1 Suarmt fferfaa o @ fopaeh stmeher & fore fpam s @ 7

(a) Sa-fafggar  (b) g1 hH TorEE (c) IR (d) AT
96. ‘.M. w2

(a) TSI HTai-eh TETEA (b) U3 Shraifeh AfiTeh

(c) NEdRiier ShTsifeh TR (d) TSI Hreieh A
97. IAISIH 9d i AIeTs ATdl ATt B

(a) F9 (fR)  (b) S IR () (0) e (@i (d) 3T A IS T
e T Ty



98.

99.

100.

101.

102.

103.

104.

105.

The pollution gas, which is primarily responsible for causing the green house effect and
global warming is :

(a) Sulphur Dioxide (b) Hydrogen Sulphide
(c) Carbon Dioxide (d) None of these

Turbidity of water is measured in :
(a) CTU (b) BTU (c) NTU (d) PTU

Match the following :
(1) Air (Prevention and Control of Pollution) (P) 1974

Act
(i1))  Environment Protection Act Q) 1972
(ii1))  Wild Life Protection Act (R) 1981
(iv) The Water (Prevention and Control of (S) 1986
Pollution) Act
Codes :

@ @) (i) (@v)
@ ®) Q ) @
b ® S Q @
© & @ Q ®)
d ® © ® Q)

Which of the following Ramsar Site is located in Uttarakhand ?
(a) Asan Conservation Reserve (b) Chandertal Wetland
(c) Doon Valley (d) Valley of Flowers National Park

For daylight requirement, what percent of above/upper floor grade area must meet the UDI
requirements for ECBC + Compliance for Healthcare Building ?

(a) 30% (b) 40% ) 50% (d) 60%

When did the Government of India enact the Environment (Protection) Act ?
(a) 23" May 1966 (b) 23 May 1986  (c) 23" May 1996  (d) 23" May 2006

As per CPCB permissible level of noise during night time in residential zone is dBA.
(a) 55 (b) 50 (c) 45 (d) 40

GRIHA has been developed jointly by .
(a) TERI & LEED India (b) TERI & IGBC
(c) LEED India & IGBC (d) TERI & MNRE Govt. of India
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98. IGYUI T, ST iF B1SU IHTT 3R Tefleet T Uer ohid o fofu ger w9 9 foriegr 7 -

(a) FTHL SBIHTFES (b) BIESISH HehIsS
(c) IS STEITTHTSS (d) T8 T B Tl
99. Tt st 2fefedt i fpam AT ST B 7
(a) H1.E.9, (b) &3, (c) T.E.Y, (d) .3,

100. Fr=faRaa =1 faemd -
() 9Ty (TGO UhUTH TS (=0T Jaferfram (P) 1974

(i)  vTeRoT EXeTuT St Q) 1972

(i)  a=sia wxeror rferfm (R) 1981

(iv) STt (Mg ke we ) st (S) 1986
EE(,' :

@ @) (i) (@iv)
@ ®) Q ) @
b ® S Q @
© & @ Q ®)
d ® © ® Q)

101. Fr=feRaa 5 @ H 91 THER T 39U@s § fRa 8 ?
(a) 3T GO Tirel (b) <gaTe ey
(c) g =l (d) Bl <l =T TR T

102. STh{cieh SThTST 1 STTEThdl o Tt ol AiTet U &3 o1 fehamT wfaerd & SHieE + STdTeH
(CITELT @A War) o foTu JEI3TTS STavarsharati sl g a1 =nfey 7

(a) 30% (b) 40% (©) 50% (d) 60%

103. YRA TRHR = TG0l (SRET0T) ST e s 7
(a) 23|$ 1966  (b) 23 WS 1986 (c) 239 1996 (d) 23 2006

104. =191 €50, < STgER FEgrreh sl § UM & AR 1 3THT TR ZiefiT &1 =Amfed |
(a) 55 (b) 50 (c) 45 (d) 40

105. “GRIHA” fpea dar fpa g 7
(a) TERI 3R LEED India
(b) TERI 3R IGBC
(c) LEED India 37k IGBC
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106.

107.

108.

109.

110.

111.

112.

113.

114.

Color indicator for public awareness for hazardous AQI is
(a) Orange (b) Red (c) Purple (d) Maroon

Which of the following is the technique where images are superimposed onto a photograph
in order to create a realistic representation of how the proposed structure will appear in the
landscape ?

(a) Photomontage (b) Photography (c) Photogenic (d) Photosynthesis

As per NBC minimum area of a habitable room is
(a) 7.5sq.m (b) 9.55sq.m (¢) 9.00 sq. m (d) 12.0sq.m

Which of the area as per Uttarakhand Building Bye-Laws and Regulations —2011 falls under
hill area ?

(a) Haridwar District (b) Udham Singh Nagar District
(c) Rishikesh Mahayojna Chhetra (d) Pithoragarh District

What percentage of land of total area of layout shall be reserved and be proposed as park
and sports ground, in Uttarakhand ?

(a) 10% (b) 15% ) 18% (d) 20%

What are minimum “Right of Way” for affordable housing project in Uttarakhand ? (for
Plains, for Hills)

(@) (9.0,5.0) meter (b) (9.0, 6.0) meter (c) (8.0,5.0) meter (d) (8.0, 6.0) meter

What is proposed land use structure for small hill towns in Residential Category ? (as per
URDPFI)

(a) 48-52% (b) 45-48% (c) 50-55% (d) 60-70%

Prescribed occupant load factor fire & life safety (m2/person) in Group A : Residential
Category is :

(a) 10.0 m2/Person (b) 12.5 m?/Person  (¢) 15.0 m?/Person  (d) 4.0 m2/Person

“Unsafe Building” — includes building which —
(1) 1is structurally safe

(i1) is dangerous to human life

(ii1) not constitutes a fire hazard

(iv) is insanitary

(@) (1), (i), (i) (b) (1), (ii) (c) (1), (iii) (d) (i), (iv)
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106.

107.

108.

109.

110.

111.

112.

113.

114.

WAATH T, 37T, o TN H T TRTEhT o TIT T Hebeleh FIT 8 7
(a) -Taft (b) AT (c) ST (d) o&q

freferfiaa o @ S ot 98 T & el SReaTfard TeaT aiged | o fomms ¢t saeht eneard
wfefferea ST o fore Sfei @i s Tl W sremifia fora smar g 2

(a) IS (b) BICHTH! (c) BN (d) THT-TIATI

T &} % STTER T AT S T IH dThd o
(a) 7.5 . (b) 9.55 = . (c) 9.00 T H. (d) 12.0 = Hfi.

ITRREE Yo Jufafer o faf@m-2011 3 317ER S @1 & e & o 3iaid AT g ?
(a) &g foem (b) 3z firg e fyem
(c) TIYeh3T HERISHT &1 (d) ToerTe S

STAUEE H AL o HA TG oh! feha Tfcrerd {1 MY L 38 UTeh U9 WA HGH o €9 F

SEdTiord foRar ST Eehar @ ?
@) 10% (b) 15% © 18% d) 20%

ITEE § ThHTdt STamE IiESHT o fofe =Haw “Tge 3116 97 #1872 (AeMi & fog, serfes
o feru)

(@) (9.0,5.0)"XT (b) (9.0,6.0)HT  (c) (8.0,5.0)HT  (d) (8.0, 6.0) HieX

3 3R T, 37, (URDPFI) % STHR 3TEmE Svft § B1e ugrel 3redi < fore s vy
ORI ECEHAT TR ?
(a) 48-52% (b) 45-48% (c) 50-55% (d) 60-70%

JmaTE i Aoft wg U A A qen S e it wR e (H/sfa) wn g v
(a) 10.0 WERR At /=Afaq (b) 12.5 WERR 1. /=Afaa
(c) 15.0 WERR Ht. /=afaa (d) 4.0 TRERR . /Al

“ STYRRFA ST — 3EH SR et B S -
(i) TTEATHS &9 & gUaa & |
(ii) T S{ie & fIT @awTs 2 |

(iii) 3TV T Tl TE & |
(iv) STEIETH 2 |
(@ (1), (), (i) (b) (1), (ii) (©) (1), (i) (d) (ii), (iv)
e R . Ty



115. As per Model Building Bye-Laws 2016 the maximum ground coverage and F.A.R. allowed
for studio apartment is respectively -

(a) 333% &2 (b) 45% & 2 (c) 50% & 2.5 (d) 60% & 2.5

116. Land pooling was first introduced in -

(a) Maharashtra  (b) Gujarat (c) Delhi (d) West Bengal

117. Line upto which plinth of a building adjoining a street may lawfully extended is called :
(a) Building Line (b) Building Boundary(c) Building Extended(d) Building Plan

118. Arrange these organized green spaces in Hierarchy :
P. District Level Park
Q. Local Park
R. City Level Park
S.  Community Level Park
(a) P,Q,R,S (b) Q,R,P,S (c) Q,S,P,R (d Q,S,R,P

119. The minimum width of staircase for hotel building as per Model Building Bye-Laws 2016
is :

(a) 1.0m (b) 12m (c) 1.8m (d) 1.5m

120. Which Act regulates building construction and operation in Uttarakhand ?
(a) Uttarakhand Town and Country Planning Act
(b) Uttarakhand (Regulations of Building Operations) Act, 1958
(c) The U.P. (Regulations of Building Operations) Act, 1958
(d) Uttarakhand Scheduled Roads and Controlled Areas Act, 1963

121. Architect Act in India is enacted in which year ?
(a) 1953 (b) 1972 (c) 1983 (d) 2003

122. As a sub component of Jawaharlal Nehru National Urban Renewal Mission, B.S.U.P. stands

for :
(a) Basic Services for Urban Poor (b) Building Services for Urban Poor
(c) Built Services for Urban Poor (d) Basic Sanitation for Urban Poor
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115.

116.

117.

118.

119.

120.

At fafeem sufafr-2016 = SgaR Tgfeat smarée o fou stfirpan UT3E Falst 3T Th. T 311,
6 3 haw:

(a) 33.3%3M2 (b) 45% 32 (c) 50% 3T 2.5 (d) 60% 3T 2.5

oie gfei Taelt SR El & 6 S off
(a) HENTSE (b) T (c) Teoeft (d) ufgas s

T8 W@ [ o fohell Tk | T §U Wa 1 g 99 &9 § SR 511 Hehdl &, el &
(a) Yo SAIAET  (b) Yo <hi i (c) WeR HIfear (d) e FieT

UGHSRH T 3 TS 8L EATHI oh1 AT i -
p. o wl urh
Q. T uEh

R. YT&U &I H1 qh
S

. |geTReh T 1 9T

(a P,Q,R,S (b) Q,R,P,S (c) Q,S,P,R (d Q,S,R,P

Aiea fafeen ufafer-2016 % FTHR Bledt o foIe €Sl 6l =aam e F:AQ 7
(a) 1.0 (b) 1.274. (c) 1.84l. (d) 1.54.

IAUEE | e Fmfor 37 T = e a1 srfufam feaba s g 2
(a) UGS TR v am Fre arferfaem

(b) TGS (I T=Terd fafre) stferf=m, 1958

(c) I.H. (o Harer fafme) stfafem, 1958

(d) STRIEE IYd T g At &= Afaem, 1963

121. 9RA ¥ IregerR SAfrfem fore o e ferm man 2 7
(2) 1953 (b) 1972 () 1983 (d) 2003
122. STTELATS 6% A9 3o gt e % ueh oesh o &9 8 t.vd. 3, A, &1 Aaets =1 3 ?
(a) Sfeeh AfE™ R 3761 3R (b) Tafeen afdem wi 316 gar
(c) feree afdag wit 316 gam (d) Sferep AfEIE B 3161 43R
0 N . TG



123. Which of the following is distinguished property of Harappan Civilization from other
contemporary civilizations ?

(a) Uniformity of weights and measures (b) Underground drainage system
(¢) Town planning (d) Fortification

124. Which of the following is not a feature of Gothic Architecture ?
(a) Rib vaults (b) Flying buttresses
(c) Heavy masonry walls (d) Stained glass window

125. The special number “Golden Ratio” is approximately equal to

(a) 1.418 (b) 1.618 (c) 1.518 (d) 1.628
126. The concept of Dry Garden is associated with

(a) Japanese Garden (b) Chinese Garden

(¢) Mughal Garden (d) Egyptian Garden

127. Which is/are the feature(s) of Uttarakhand traditional architecture ?
(A) Settlements are built in long linear pattern to allow maximum sun.
(B) Sloping roofs
(C) Chhajja over windows
(D) Floors are kept high

(a) Only (A) (b) (A), (B) (©) (A), (B), (C), (D) (d) (A),(B), (O
128. The Pai-Lous of China bear a resemblance to the of India.
(a) Gopuram (b) Stupa (¢) Torii (d) Torans

129. The temple which is also known as “Black Pagoda” :
(a) The Sun temple at Konark
(b) The temple of Kandarya Mahadeo, Khajuraho
(¢) The Great temple, Bhuvaneshwar
(d) The Umber temple

130. Temples in Uttarakhand are majorly made in which style of Architecture ?
(a) Shikhara style (b) Dravidian style (c) Vesara style (d) Nagara style

131. The ‘Domus’ in Roman Architecture is known as
(a) Private house (b) Country house
(¢) Many-storeyed tenement (d) All of these

132. The ‘Composite Order’ was invented by
(a) Greek (b) Roman (c) Egyptian (d) China
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123. frafeRaa ° O geva @war <l i H foRivdT 37 gHehel= TRaist 8 3T @ ?

(a) I 3R AT <l THEIAT (b) fEATa STet epTet saEen
(c) TR e COREER
124. Frferfga 3 & w6 @1 Mifves areqeret 1 faRw T @ & 7
(a) @ alee (b) TS FEY
(c) Beft BEd gt (AT TS 6 da) (d) Vs (W) ™ fgessh
125. fomiy g@an “Mee W e & S E |
(a) 1.418 (b) 1.618 (¢) 1.518 (d) 1.628

126. Y5 3TM <l JTG4EN fohud Tefer 3 ?
(a) IUHIITE  (b) TSI 3TH ORUSESIC] (d) fra s 3™

127. IUAUEE TRUNG Sreqehelt shi ferian(d) =g /2?
(A) SfEi =1 3tfereham g3 <t A o foTe o Waeh Yed & s |
(B) STiHT Bd
(C) Tasirai & Tw v
(D) 31 ! e T T2 |

(a) I (A) (b) (A), (B) (c) (A), (B), (C), (D) (d) (A),(B),(C)
128. =fi9 % IE-<T 9 WA Y qAEAT WEd § |

(a) g (b) & (c) drd (d) T
129. Tt {58 “scieh Uer” o I & oft ST ST B

(a) T AT, STeh (b) e wgTed Hict, GSra!

(c) TEM HiCY, Yarvar (d) IW Hfex

130. ITRES & Aferehrer Afe foha arggforey It dam g 7
(a) TorER et (b) gfafeam it (c) Teramu oeft (d) TR eft

131. TvH IRgohett § S’ fhe ST A1 8 ?

(a) To=fier (b) TTHIT BT (c) Fg-UNE HPH  (d) Ig |t

132. ‘G9U shH’ T STTTarshR fendeh gy fopam mam o ?
(a) (b) Tm (c) 3MT= (d) ==
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133.

134.

135.

136.

137.

138.

139.

140.

For which building Ustad Ahmad (a.k.a. Isa Khan) is most offen credited as the chief
architect (plan drawer) of :

(a) The Tomb of Akbar, Sikandra (b) The Taj Mahal, Agra
(¢) The Jama Masjid, Delhi (d) The Moti Masjid, Agra

The Great Bath of Indus Valley Civilization has been found at
(a) Mohan-jo-Daro (b) Roman (c) Rangpur (d) Gothic

The architecture style of Forest Research Institute, Dehradun is
(a) Buddhist Architecture (b) Roman Architecture

(c) Indo-Sarsenic Architecture (d) Greco-Roman Architecture

Which among the following are features of Uttarakhand temple Architecture ?
(A) Open Mandap

(B) Canopied composite roof

(C) Pradakshina path

(D) Multi-tiered conical roof

(@) (A) &(B) (b) (A),(B) & (C)

(c) (B) &(C) (d) (A), (B), (C) & (D)

The balance distribution and arrangement of equivalent forms and spaces on opposite sides
of a dividing line or plane or about a central axis is called

(a) Symmetry (b) Hierarchy (c) Rhythm (d) Datum

Which architect stated “The job of the architect today is to create beautiful buildings, that’s
all” ?

(a) Charles Correa (b) Philip Johnson  (c¢) F.L. Wright (d) Jane Jacob

Venice Charter’s focused area is

(a) Conservation of historic gardens

(b) Conservation of places of cultural significance
(c) Authenticity

(d) Conservation and restoration of monuments and sites

As per CPWD Green Rating Manual 2021, the rating once awarded shall be valid for a period
of :

(a) One year (b) Three year (c) Five year (d) Life time

. The new parliament building in India is designed by which architect ?

(a) Bimal Patel (b) Herbert Baker (c) Ram V. Suter (d) Brinda Somaya
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133.

134.

135.

136.

137.

138.

139.

140.

141.

TG 3TEHE (3% $HT WH) ! Tohel SARA o &I IRIehR (IS T o &9 8 &1 fean smar g 2
(a) ITHaL T Hehall, Rreheq (b) dTS 7, IR

(c) S mfesg, foee (d) Tt mfesg, 3

oy =Tt vt 1 foremer SFER SRl g T e ?

(a) HEASGIEl  (b) UHA (c) TR (d) miers

T LT FEAM, GBUGH hl ATEGehell JeAl hiH € 7 ?

(a) SIGHE ATEg-At (b) TH ST - St

(c) SSI-UREMH areg-Seft (d) HihI-Tme areg-eft
frefefaa § @ o = sates ufet aregewen i fomvand 8 7

(A) GAT STHAT

(B) e fufya va

(C) vigfeqom 921

(D) TR TR S

(2) (A) 3T (B) (b) (A), (B) 3R (C)

() (B) 3 (C) () (A), (B), (C) 3T (D)

Tereft forwTsie T = EHae < foadid feem 9 1 il 3187 o IR 3R TAded STehiaal 3K TIMi
% e feraror 3R e FHE AL |

(a) HHMHTT (b) TSR (c) = (d) S|

“3Tfehedre (ATIhIT) ST HTH et W SHMT &, 59 ga1 &1

HYA fohd STfheae (TTEGHR) I FET 8 ?

(a) I B (b) e AE= (c) TH.TA. TS (d) SH e

3 =T T higd ST RS 7

(a) Ufergriten S w1 EREq (b) HTEhcieh Hawd o TATHI T T

(c) STHTiOTSRAT (d) THRhT 3T AT T TEIUT TR SAvigR
Hifigseygl i UM Hy3TeT 2021 % FTHW, Teh SR IGH hi T8 AT hi Frater, fohe ot o forg
g gt ?

(a) T ATA (b) o AT OREEIS (d) Sfaa-wret deh
A | T 98¢ Wa 1 TSl fohd aregepi g fopan mn g 7

(a) Tomer wea OREEER (c) gt X (d) Tsier gmmn
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142. Match the following :
(1) Chandigarh (P)  Sir Edwin Lutyens
(i1) New Delhi (Q)  Le Corbusier
(iii))  Bhubaneshwar (R)  Vidyadhar

Bhattacharya
(iv) Jaipur (S)  Koenigsberger
Codes :
() () (i) (1)
(@ Q ® ®) ()
® ® Q ) ®
© ® Q ®) ()
d ©Q ® ©) ®
143. The golden ratio refers to
@) 1:42 (b) 2:(1++/35) @) 1:1 ) 16:9
144. The city “Redburn” was known as planning concept.
(a) Linear city (b) Town of the motor age
(c) Garden city (d) Sectoral plan

145. Who designed Guggenheim Museum, Bilbao ?
(a) John Ruskin  (b) F.L. Wright (c¢) Frank Gehry (d) Fedrick L. Olmsted

146. Which of the following is not designed by Frank L’yod Wright ?
(a) Falling water (b) Robie House
(¢) Guggenheim Museum (d) Australian High Commission’s Chancery

147. GEM sustainability certification rating programme is based upon
(a) BEE (b) ECBC 2017 (c) NBC 2016 (d) All of these

148. The Fibonacci sequence mathematically correlates with the
(a) Golden Ratio (b) Gestalt Theory
(¢) Fundamentals of Architecture (d) Modern Concepts

149. The book “Space, Time and Architecture” is authored by
(a) Percy Brown (b) G.K. Hiraskar (c) Satish Grover (d) S. Giedion

150. Which of the following building is famous example of post modern architectural style ?
(a) The Shard (b) Piazza d’Italia (c) Burj Khalifa (d) Taj Mahal

Series-A 30 AAP




142. Tr=faRaa i faemd -

() =g (P) W ugfom gfeaw
(i) % feoett (Q i HERR
(i) g (R)  forgamn weram
(iv)  SEQ (S) HEHEER
EE(::

H @G 3 (Gv)
@ «Q ® [®) (S
® ® Q S ®
© @) @Q [®) (5
@d Q ® S ®

143. Teed SFATT fohwen! e wtar g 7

(@) 1:+2 (b) 2:(1++/5) ) 1:1 d) 16:9
144. & [ i TS St % T § ST ST o |

(a) W I (b) TRAFTHIAE  (c) e & (d) & e
145. THEH Bforem, foretanat fpa fesmea fran g 2

(a) A9 THHA (b) TH.TA. T

(c) Sheh &l (d) Hefes Td. siarads
146. s Age Use A Ffcifiga § 9 = |1 o fesmes 78 foman g 7

(a) IS d1et (b) et BT

(c) THRH R (d) Tferem B e =T
147. S.3.0H. GOSNl SHTOH T ST e 9 sneTia

(a) BEE (b) ECBC 2017 (c) NBC 2016 (d) Ig &+t
148. BTSS! STIRA T €9 § foheeh T HEfYd g ?

(a) @O IrguTd (b) TeTee forgma

(c) regehetl = e fogrd (d) IR SR
149. “TIH, 2T13H U ATfeheaar J&deh fehtieh gl forelt 18 & 2

(a) 9l SR (b) Sf.%. feeam (c) FST TR (d) wE. frdam
150. fr=ferfaa # @ = = fafee dree uie amgehe el 1 Hud g g ?

(a) TIRE (b) fasTen g'garfern  (c) oS @ellw (d) I HEA
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